CMA 103 Credit Unit Assessment CU2

1. Since x-rays are basically ________, a ________ should be worn by any health care worker who may come into contact with them.
  odorless to human olfactory receptors, odor detector 
Correct Answer: invisible, film badge 
  invisible, protective clothing 
  scattering, collector rods 
  traveling in straight lines, deflecting badge

2. What nuclear medicine test measures minute quantities of substance in a patient sample by using radioactive chemicals and antibodies? 
Correct Answer: RIA radioimmunoassay 
  Tech99 or Technetium uptake study 
  Strontium lab test 
  Iodine study 
  None of these answers.

3. _______ are basically the same thing as visible light rays. Both are wavelike forms of electromagnetic energy carried by particles called photons. The difference between _______ and visible light rays is the energy level of the individual photons. This is also expressed as the wavelength of the rays.
Correct Answers
x-rays 
xrays

4. __________ agents are a type of medical medium used to improve the visibility of internal bodily structures in an X-ray based imaging techniques such as Computedtomography (CT) or Radiography (commonly known as X-ray imaging). ____________ agents are typically iodine or barium compounds.
Correct Answers
contrast

5. What advanced imaging technique is best for visualizing bony structures, chest lesions, pneumonia, and brain bleeds?
Correct Answers
CT 
cat 
computerized tomography

6. A study which is useful in detecting movement and flow rate (velocity) such as vascular volume is called a ____________ study.
Correct Answers
Doppler

7. __________ is an imaging technique commonly used by physicians to obtain real-time moving images of the internal structures of a patient through the use of x-rays and a lighted screen.
Correct Answers
Fluoroscopy

8. In _______ medicine imaging, radiopharmaceuticals are taken internally, for example intravenously or orally. Then, external detectors (gamma cameras) capture and form images from the radiation emitted by the radiopharmaceuticals. This process is unlike a diagnostic X-ray where external radiation is passed through the body to form an image.
Correct Answers
nuclear

9. What x-ray position has the patient diagonal to the plate?
Correct Answers
oblique

10. What is a substance or object which x-rays pass right through without altering course?
Correct Answers
radiolucent

11. A substance or object that absorbs x-rays or deflects them from their path is called ___________.
Correct Answers
radiopaque

12. What is the name of the dude who invented radiography?
Correct Answers
Roentgen

13. Since x-rays tend to ________ when contacting a dense object, lead strips line the borders of radiographic plates to collect the wayward particles so they do not disturb the image.
Correct Answers
scatter

14. Endoscopic retrograde cholangiopancreatography (ERCP) is a radiologic technique used to visualize the anatomy of the biliarytract. A contrastmedium is injected into a bile duct through the skin into the liver, after which X-rays are taken. It allows access to the biliary tree in cases where other methods have been unsuccessful.
  True 
Correct Answer: False



15. An intravenous pyelogram (IVP) is a non-contrast x-ray examination of the kidneys, ureters and urinary bladder.
  True 
Correct Answer: False

16. An (KUB) is an x-ray examination of the kidneys, ureters and urinary bladder that uses iodinated contrastmaterial injected into veins.
  True 
Correct Answer: False

17.  A PET scan measures important body functions, such as blood flow, oxygen use, and sugar (glucose) metabolism, to help doctors evaluate how well organs and tissues are functioning.
Correct Answer: True 
  False

18. Percutaneous transhepatic cholangiography (PTHC) is a radiologic technique used to visualize the anatomy of the biliary tract. A contrast medium is injected into a bile duct through the skin into the liver, after which X-rays are taken. It allows access to the biliary tree in cases where other methods have been unsuccessful.
Correct Answer: True 
  False

19. These agents work directly on the DNA and prevent the cell division process by cross-linking the DNA strands and causing abnormal base pairing. When a DNA is altered in this manner, undesired cellular activity comes to a halt and the cell cannot multiply.
Correct Answer: Alkylating agents 
  Antimetabolites 
  Anthracyclines 
  Antitumor antibiotics 
  Monoclonal antibodies

20. What type of cancerous neoplasm growth is confined to its site of origin and has not invaded neighboring tissue or gone elsewhere in the body?
Correct Answer: Carcinoma in situ 
  Benign 
  Noncancerous 
  Malignant

21. What are the two main overall causes of cancer?
Correct Answer: Heredity and environment 
  Smoking and Sun (the two S's) 
  Genetics and Smoking 
  Smoking and Sex (the two S's) 
  Mutation and Smoking
22. Which of the following are NOT one of the four major approaches to cancer treatment?
  Radiation 
  Biological therapy 
Correct Answer: All of these answers are major approaches to cancer treatment. 
  Chemotherapy 
  Surgery

23. The precise type of radiation treatment intent ______, ______, _______, and ______ will depend on the tumor type, location, and stage, as well as the general health of the patient.
  curative, destructive, neoadjuvant, therapeutic, or palliative 
  curative, adjuvant, neoadjuvant, therapeutic, or destructive 
  curative, adjuvant, neoadjuvant, destructive, or palliative 
  destructive, adjuvant, neoadjuvant, therapeutic, or palliative 
Correct Answer: curative, adjuvant, neoadjuvant, therapeutic, or palliative

24. Methotrexate, which is one of the most commonly used chemotherapy agents, works on the S-phase of the cell cycle. It inhibits an enzyme that is essential for DNA synthesis. What kind of chemotherapy agent is Methotrexate?
Correct Answers
antimetabolite

25. What is the most common form of skin cancer that is associated with sun exposure?
Correct Answers
Basal cell carcinoma

26. __________, in which a radiation source is placed inside or next to the area requiring treatment, is another form of radiation therapy that minimizes exposure to healthy tissue during procedures to treat cancers of the breast, prostate and other organs.
Correct Answers
brachytherapy

27. Cancerous cells differ because they continue to reproduce in spite of abnormalities or faulty information. Cancer cells also do not obey the laws of _______________, which means that cancerous cells propagate when they touch another cell.
Correct Answers
contact inhibition

28. Cancer is caused by changes in the _______ of certain genes.
Correct Answers
DNA


29. In pathology, _________ is a measure of the progress (maturity) of tumors and other neoplasms.
Correct Answers
grading

30. People do not inherit cancer but instead inherit an _____ _____of getting cancer.
Correct Answers
increased risk

31. What pre-cancerous lesion develops as a white spot on mucous membranes and is common in smokers?
Correct Answers
leukoplakia

32. What type of neoplasm of the pigmenting cells is always malignant?
Correct Answers
melanoma

33. There are three types of histogenesis classifications, one is this type, which develops from connective tissue?
Correct Answers
sarcoma

34. The TNM Classification of Malignant Tumors is a cancer staging system that describes the extent of ________ of cancer within a patient’s body.
Correct Answers
spread 
metastasis

35. The ABCDE’s of skin cancer (specifically melanoma) are asymmetry, border, color, diameter, and evolution.
Correct Answer: True 
  False

36. Fractionation is a method of dividing radiation therapy’s total dose needed into manageable, repeated doses which allows larger dosing not to damage surrounding tissues, including skin.
Correct Answer: True 
  False

37. NK cells do not need a specific antigen to attract it and kill by docking with pathogens and releasing toxins which poke holes in the cell membrane causing apoptosis.
Correct Answer: True 
  False

38. In the TNM staging system, "N" describes neoplasm(s) that are involved in the disease process.
  True 
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